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B.Com. DEGREE EXAMINATION, NOVEMBER 2016.
III YEAR — VI SEMESTER
Major Paper XIX –– ADVANCED COST ACCOUNTING 
Time : 3 hours    					Max. Marks : 75
SECTION A — (10 × 2 = 20 marks)
Answer any TEN questions.
1. What is job costing?
2. Explain Economic Batch Quantity.
3. Find out the selling price: Cost of sales `80; Profit at 20% on sales.
4. Find out the amount of selling overhead from the following: Works Cost `60,000 and Office overhead ` 5,000. Selling overhead to works cost in previous year was at 26%.
5. Calculate the passenger kilometers covered by a fleet of 4 taxies run by CCN Travels from Hyderabad to Bhuvanagiri (45Kms) and back 4 trips each day with 5 passengers on an average on each vehicle, for the month of April 1992.
6. From the following calculate kilometers and local passenger kilometers.: Number of buses-4, Days operated in a month 30, Trips made by each bus 4, Distance of route 30 Km (one way). Capacity of bus 60 passengers. Normal passenger travelling 80% of the capacity.
7. Find the abnormal gain or loss in units: Input 5000 units, Normal loss 20%, Output 4300 units.
8. A company produces 300 units of Product ` 200units of Product S and 100 units of Product J from a single process. The costs upto the point of separation `30,000.Apportion the joint cost by average unit costs method. 
9. Cost of a process `2,70,000. Joint products produced X 500 kgs Y 1500 kgs. Market price per unit    X ` 30 Y `20 Divide joint costs on market value basis. 
10. What is operating costing?
11. What is process costing?
12. Explain joint products and by products.
SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions.
13. Distinguish job costing from contract costing.
14. Coal India Ltd recorded an output of 80,000 units of saleable coal during 1997. From the following ascertain the cost of coal raised a) per ton and b) for 80,000 tons.
`
    Royalty to the state government   at `2 per ton raised	1,60,000
		Wages:
	Underground								4,00,000
	On the surface								1,20,000
	Working Expenses:
	Consumable 	Stores					    	   24,000
	Depreciation of tools							   56,000
	Rent and taxes								   40,000
	Repairs and renewals							   20,000
	Timber and other materials						   16,000
	Sundry expenses								   40,000
	The general administration and 
 (
[P.T.O.]
)	    selling expenses amounted to 					2,40,000

15. From the following data calculate the cost per unit of a vehicle.
											  	  `
		Value of vehicle							    15,000
		Road license for the year					         500
		Insurance charges for the year				     	100
		Garage rent per year					      		600
		Driver’s wages per month					      	200
		Cost of petrol per litre					      	         0.80
		Miles per litre                                  				     8
		Proportion charge for tyre and maintenance per mile 	0.20
	Estimated life, 50,000 miles and Estimated annual mileage 6,000 miles Ignore interest on capital
	 
16. Product X goes through three operations before it is finished. Normal loss of the operation are as 
	follows:
		Operation 1-25% of input
		Operation 2-1/6 of input
		Operation 3-20% of input
	     Compute the initial input required to obtain a final output of 100 units.
17. Prepare Process account
Input of raw material 1000 units at `6 per unit. Direct material `5,200 Direct Wages `4,000 Production overhead `4,000 Actual output transferred to Process II 950 units Normal loss 5% Value of scrap per unit `4.
18. The joint cost of making 50 units of product A 100 units of product B and 150 units of product C is  
`900. The selling price of products A,B and C are `2 `3 and `4 respectively. The products did not require further processing costs after split off point. Apportion the joint costs a) On selling price basis b) On sales value basis.
19. Anitha industries produces three products L, M, and N of almost equal value from a common 
process. The total joint cost of production was ` 54,000 in Feb.1998. The following further details are available.
	Details
	     L
	M
	N

	Post separation costs `
	20,000
	15,000
	25,000

	Sales `
	60,000
	80,000
	72,000

	Profit on sales
	20%
	40%
	25%



SECTION C — (2 × 15 = 30 marks)
Answer any TWO questions.
20. A company costing records reveal the following:
    `
		Materials				5,00,000
		Wages				4,00,000
		Works overhead			1,00,000
		Office expenses			2,00,000
 	The company has been manufacturing a uniform product. A quotation is to be prepared for the supply of materials and wages per unit are `250 and`200 respectively. Required profits on the quotation are 20%. Ascertain the quotation for 100 units of the product, based on the figures revealed by the costing records.

21. From the following data calculate the cost of running a taxi per kilometer.
Number of Taxis				10
Cost of each taxi 				`2,00,000
Salary of a manager			`6,000 p.m
Salary of Accountant			`5,000 p.m
Salary of cleaner				`2,000 p.m
Salary of mechanic			`4,000 p.m
Garage rent					`6,000 p.m
Insurance premium			5% p.a
Annual Tax					`6,000 per taxi
Drivers salary				`2,000 p.m per taxi
Annual Repair 				`10,000 per taxi		
       	Total life of a taxi is about 2,00,000 kms. A taxi runs in all 3,000 kms in a month of which 30% it runs empty. Petrol consumption is one litre for 10 km at `18 per litre. Oil and other sundries are `50 per litre. 
22.   The finished product of a factory has to pass through three processes A,B and C. The normal wastage of each process is 2% in A, 5% in B and 10% in C. The percentage of waste is computed on the number of units entering each process.
 		The scrap value of wastage of process A,B and C are ` 10, ` 40, ` 20 per 100 units respectively.
		The output of each process is transferred to the next process and the finished products are transferred from process C into stock. The following further information is obtained:

	Details (in `)
	Process   A
	Process B
	Process C

	Materials consumed              
	12,000
	4,000
	4,000

	Direct labour                 
	8,000
	6,000
	6,000

	Manufacturing expenses     
	2,000
	4000
	2,000



		20,000 units were put into process A at a cost of ` 16,000. The output of each process has been         A – 1	9,600 units, B – 18,400 units and C – 16,700 units.
		There was no stock of work-in-progress in any process. Prepare the process accounts.
23. A factory producing article P also produces a by-product Q which is further processed into finished product. . The total joint cost of manufacture is given below:
	       Materials             ` 50,000
		Wages                 ` 30,000
		Overheads	          ` 20,000
		Subsequent cost also given below:
						P	            Q
         Materials            ` 30,000		` 15,000
	  	Wages                ` 14,000		` 10,000
	       Overheads          `   6,000		`   5,000

		Selling prices are P - ` 1,60,000 and Q - ` 80,000.Profit on sales are 25% for P and 20% for Q. Assume that selling and distribution expenses are in proportion of sales prices. Show how you would apportion joint costs of manufacture and prepare a statement showing cost of production of P and Q.
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